(25 Points)(1) (a)Find Vo/Vi in term of
R, R1,R2, R3, R4 and R5.

b) If R=10 K, R1=3.3 K, R2=4.7 K,
R3=5.6 K, R4=18 K and R5=33 K,
Calculate Vo/Vi using relation obtained
From part (a).
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(20 Points) (2) In the square wave generator shown, B |
assume diodes D1 and D2are ideal but assume constant voltage ™= LA

drop model of 0.7 [V] for D3 and D4. L+=-L-=10[V]. Dl' D,

Find the frequency of the waveform if R1=10 K, R2=1.2 K D A~ —

and C=1 microF. K-k _]_—K]W
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(20Points) (3) In the regulated power supply
| shown, V(line)=170Cos(377t) and Vo is
| 9 volt(DC). If RL=60 ohms, find appropriate %
value for C and transformer turn ratio N2/N1. line
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(25 Points) (4) In the circuit shown, find the DC current £ Ol; |
of collector of Q1 and Q2. V(BE)=0.7 V and beta=100. q
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(25 Points) (5)Find Rc, C1, C2 and C3 so that
the amplifier has a passband gain of —20

and lower cut-off frequency of 100 Hz.
Assume that all 3 capacitors has equal time
constants,
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